
Tukey's	mul+ple	
comparisons	test	
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qPCR	
significant?	

Fggy	(AJ	<	B6	<	C3H)	
A/J	vs.	C57BL6J	 A-B	 -0.0001722	 -4.798x10-4	to	1.353x10-4	 0.2738	 Yes	 No	
A/J	vs.	C3H/HeJ	 A-C	 -0.0006147	 -9.222x10-4	to	-3.071x10-4	 0.0021	 Yes	 Yes	
C57BL6J	vs.	C3H/HeJ	 B-C	 -0.0004424	 -7.499x10-4	to	-1.349x10-4	 0.0107	 Yes	 Yes	
Saa3	(AJ	<	B6	<<	C3H)	
A/J	vs.	C57BL6J	 A-B	 -0.01083	 -0.22650	to	0.20480	 0.9870	 No	 No	
A/J	vs.	C3H/HeJ	 A-C	 -0.2689	 -0.48450	to	-0.05319	 0.0204	 Yes	 Yes	
C57BL6J	vs.	C3H/HeJ	 B-C	 -0.258	 -0.47370	to	-0.04236	 0.0243	 Yes	 Yes	
Wnt11	(AJ	<<	B6	>>	C3H)	
A/J	vs.	C57BL6J	 A-B	 -0.03237	 -0.06789	to	0.00316	 0.0702	 Yes	 No	

A/J	vs.	C3H/HeJ	 A-C	 0.01641	 -0.01911	to	0.05193	 0.3909	 No	 No	
C57BL6J	vs.	C3H/HeJ	 B-C	 0.04878	 0.01326	to	0.08430	 0.0132	 Yes	 Yes	
Wif1	(AJ	>>	B6	≈	C3H)	
A/J	vs.	C57BL6J	 A-B	 0.003328	 0.002553	to	0.004103	 <0.0001	 Yes	 Yes	
A/J	vs.	C3H/HeJ	 A-C	 0.003306	 0.002531	to	0.004081	 <0.0001	 Yes	 Yes	
C57BL6J	vs.	C3H/HeJ	 B-C	 -2.152e-05	 -7.96x10-4	to	7.54x10-4	 0.9960	 No	 No	


